Re-employed FERS Annuitant (9/9/2009) Automatic Retirement Deductions

Salary Information:

05/17/09: \$113,007/yr (\$54.15/hr) 01/03/10: \$116,397/yr (\$55.77/hr)

2009

Α	В	С	D	Е	F	G (col. D x 0.8%)	H (col F x 6.2%)
Pay Period	Hourly Rate	Hours Worked	Gross Pay Before Annuity Offset	Offset for Annuity	Adjusted Gross After Annuity Offset	FERS Deductions	FICA (OASDI) Tax
05/17/09 to 5/23/09	\$54.15	40 hours (5 days)	\$2,166.00	\$966.00 (24.15 x 40)	\$1,200.00		\$74.40
05/24/09 to 06/06/09	\$54.15	44 hours (8 days)	\$2,382.60	\$1,062.60 (24.15 x 44)	\$1,320.00		\$81.84
06/07/09 to 06/20/09	\$54.15	44 hours (8 days)	\$2,382.60	\$1,062.60 (24.15 x 44)	\$1,320.00		\$81.84
06/21/09 to 07/04/09	\$54.15	36 hours (9 days)	\$1,949.40	\$869.40 (\$24.15 x 36)	\$1,080.00		\$66.96
07/05/09 to 07/18/09	\$54.15	28 hours (8 days)	\$1,516.20	\$676.20 (24.15 x 28)	\$840.00		\$52.08
07/19/09 to 08/01/09	\$54.15	33 hours (9 days)	\$1,786.95	\$796.95 (24.15 x 33)	\$990.00		\$61.38
08/02/09 to 08/15/09	\$54.15	72 hours (10 days)	\$3,898.80	\$1,738.80 (24.15 x 72)	\$2,160.00		\$133.92
08/16/09 to 08/29/09	\$54.15	68 hours (10 days)	\$3,682.20	\$1,642.20 (24.15 x 68)	\$2,040.00		\$126.48
08/30/09 to 09/12/09	\$54.15	36 hours (6 days)	\$1,949.40	\$869.40 (\$24.15 x 36)	\$1,080.00		\$66.96
Subtotal for Intermittent Time		401 hours (73 days)	\$21,714.15	\$9,684.15	\$12,030.00		\$745.86
09/13/09 to 09/26/09	\$54.15	80 hours	\$4,332.00	\$1,932 (24.15 x 80)	\$2,400	\$34.66	\$148.80
09/27/09 to 10/10/09	\$54.15	80 hours	\$4,332.00	\$1,932 (24.15 x 80)	\$2,400	\$34.66	\$148.80
10/11/09 to 10/24/09	\$54.15	80 hours	\$4,332.00	\$1,932 (24.15 x 80)	\$2,400	\$34.66	\$148.80
10/25/09 to 11/07/09	\$54.15	80 hours	\$4,332.00	\$1,932 (24.15 x 80)	\$2,400	\$34.66	\$148.80
11/08/09 to 11/21/09	\$54.15	80 hours	\$4,332.00	\$1,932 (24.15 x 80)	\$2,400	\$34.66	\$148.80
11/22/09 to 12/05/09	\$54.15	48 hours + 32 hours	\$4,332.00	\$1,159.20 (24.15 x 48) + \$780.48 (24.39 x 32) = \$1,939.68	\$2,392.32	\$34.66	\$148.32
12/06/09 to 12/19/09	\$54.15	80	\$4,332.00	\$1,951.20 (24.39 x 80)	\$2,380.80	\$34.66	\$147.61
Subtotal for covered service in 2009		560 hours	\$30,324.00	\$13,550.88	\$16,773.12	\$242.62	\$1,039.93

Annuity Information:

05/17/09: $\$4,200/mo \rightarrow \$50,400/yr \rightarrow \$24.15/hour$ 12/01/09: $\$4,242/mo \rightarrow \$59,904/yr \rightarrow \$24.39/hour$

Re-employed FERS Annuitant (9/9/2009) Automatic Retirement Deductions

Salary Information:

05/17/09: \$113,007/yr (\$54.15/hr) 01/03/10: \$116,397/yr (\$55.77/hr)

A	В	С	D	E	F	G (col. D x 0.8%)	H (col F x 6.2%)
Pay Period	Hourly Rate	Hours Worked	Gross Pay Before Annuity Offset	Offset for Annuity	Adjusted Gross After Annuity Offset	FERS Deductions	FICA (OASDI) Tax
12/20/09 to 01/02/10	\$54.15	80	\$4,332.00	\$1,951.20 (24.39 x 80)	\$2,380.80	\$34.66	\$147.61
01/03/10 to 01/16/10	\$55.77	80	\$4,461.60	\$1,951.20 (24.39 x 80)	\$2,510.40	\$35.69	\$155.64
01/17/10 to 01/30/10	\$55.77	80	\$4,461.60	\$1,951.20 (24.39 x 80)	\$2,510.40	\$35.69	\$155.64
01/31/10 to 02/13/10	\$55.77	80	\$4,461.60	\$1,951.20 (24.39 x 80)	\$2,510.40	\$35.69	\$155.64
02/14/10 to 02/27/10	\$55.77	80	\$4,461.60	\$1,951.20 (24.39 x 80)	\$2,510.40	\$35.69	\$155.64
02/28/10 to 03/13/10	\$55.77	80	\$4,461.60	\$1,951.20 (24.39 x 80)	\$2,510.40	\$35.69	\$155.64
03/14/10 to 03/27/10	\$55.77	80	\$4,461.60	\$1,951.20 (24.39 x 80)	\$2,510.40	\$35.69	\$155.64
03/28/10 to 04/10/10	\$55.77	80	\$4,461.60	\$1,951.20 (24.39 x 80)	\$2,510.40	\$35.69	\$155.64
04/11/10 to 04/24/10	\$55.77	80	\$4,461.60	\$1,951.20 (24.39 x 80)	\$2,510.40	\$35.69	\$155.64
04/25/10 to 05/08/10	\$55.77	80	\$4,461.60	\$1,951.20 (24.39 x 80)	\$2,510.40	\$35.69	\$155.64
05/09/10 to 05/22/10	\$55.77	80	\$4,461.60	\$1,951.20 (24.39 x 80)	\$2,510.40	\$35.69	\$155.64
05/23/10 to 06/05/10	\$55.77	80	\$4,461.60	\$1,951.20 (24.39 x 80)	\$2,510.40	\$35.69	\$155.64
06/06/10 to 06/19/10	\$55.77	80	\$4,461.60	\$1,951.20 (24.39 x 80)	\$2,510.40	\$35.69	\$155.64
06/20/10 to 07/03/10	\$55.77	80	\$4,461.60	\$1,951.20 (24.39 x 80)	\$2,510.40	\$35.69	\$155.64
07/04/10 to 07/17/10	\$55.77	80	\$4,461.60	\$1,951.20 (24.39 x 80)	\$2,510.40	\$35.69	\$155.64
Total 2010 covered service		1,200 hours	\$66,794.40	\$29,268.00	\$37,526.40	\$534.32	\$2,326.57

Re-employed CSRS Offset Annuitant (9/9/2009) Delayed Retirement Deductions

Salary Information:

05/17/09: \$113,007/yr (\$54.15/hr) 01/03/10: \$116,397/yr (\$55.77/hr) **Annuity Information**:

05/17/09: $\$4,200/mo \rightarrow \$50,400/yr \rightarrow \$24.15/hour$ 12/01/09: $\$4,242/mo \rightarrow \$59,904/yr \rightarrow \$24.39/hour$

Α	B	С	D	Е	F	G (D – E – F)	H (G x 0.8%)	I [7% x (E + F)]	J (G x 6.2%)
Pay Period	Hourly Rate	Hours Worked	Gross Pay Before Annuity Offset	Offset for Annuity	Pre-tax Deductions	Adjusted Gross After Offset and Pre-tax.	Offset Ded (reduced)	Offset Ded (full)	FICA (OASDI) Tax
05/17/09 to 5/23/09	\$54.15	40 hours (5 days)	\$2,166.00	\$966.00 (24.15 x 40)		\$1,200.00			\$74.40
05/24/09 to 06/06/09	\$54.15	44 hours (8 days)	\$2,382.60	\$1,062.60 (24.15 x 44)		\$1,320.00			\$81.84
06/07/09 to 06/20/09	\$54.15	44 hours (8 days)	\$2,382.60	\$1,062.60 (24.15 x 44)		\$1,320.00			\$81.84
06/21/09 to 07/04/09	\$54.15	36 hours (9 days)	\$1,949.40	\$869.40 (\$24.15 x 36)		\$1,080.00			\$66.96
07/05/09 to 07/18/09	\$54.15	28 hours (8 days)	\$1,516.20	\$676.20 (24.15 x 28)		\$840.00			\$52.08
07/19/09 to 08/01/09	\$54.15	33 hours (9 days)	\$1,786.95	\$796.95 (24.15 x 33)		\$990.00			\$61.38
08/02/09 to 08/15/09	\$54.15	72 hours (10 days)	\$3,898.80	\$1,738.80 (24.15 x 72)		\$2,160.00			\$133.92
08/16/09 to 08/29/09	\$54.15	68 hours (10 days)	\$3,682.20	\$1,642.20 (24.15 x 68)		\$2,040.00			\$126.48
08/30/09 to 09/12/09	\$54.15	36 hours (6 days)	\$1,949.40	\$869.40 (\$24.15 x 36)		\$1,080.00			\$66.96
Subtotal for Intermittent Time		401 hours (73 days)	\$21,714.15	\$9,684.15		\$12,030.00			\$745.86
09/13/09 to 09/26/09	\$54.15	80 hours	\$4,332.00	\$1,932 (24.15 x 80)	\$200.00	\$2,200.00			\$136.40
09/27/09 to 10/10/09	\$54.15	80 hours	\$4,332.00	\$1,932 (24.15 x 80)	\$200.00	\$2,200.00			\$136.40
10/11/09 to 10/24/09	\$54.15	80 hours	\$4,332.00	\$1,932 (24.15 x 80)	\$200.00	\$2,200.00			\$136.40
Subtotal for non- deduction FT service		240 hours	\$12,996.00	\$5,796.00	\$600.00	\$6,600.00			\$409.20
10/25/09 to 11/07/09	\$54.15	80 hours	\$4,332.00	\$1,932 (24.15 x 80)	\$200.00	\$2,200.00	\$17.60	\$149.24	\$136.40
11/08/09 to 11/21/09	\$54.15	80 hours	\$4,332.00	\$1,932 (24.15 x 80)	\$200.00	\$2,200.00	\$17.60	\$149.24	\$136.40
11/22/09 to 12/05/09	\$54.15	48 hours + 32 hours	\$4,332.00	\$1,159.20 (24.15 x 48) + \$780.48 (24.39 x 32) = \$1,939.68	\$200.00	\$2,192.32	\$17.54	\$149.78	\$135.92
12/06/09 to 12/19/09	\$54.15	80	\$4,332.00	\$1,951.20 (24.39 x 80)	\$200.00	\$2,180.80	\$17.45	\$150.58	\$135.21
Subtotal for covered FT service in 2009		320 hours	\$17,328.00	\$7,754.88	\$800.00	\$8,773.12	\$70.19	\$598.84	\$543.93

Re-employed CSRS Offset Annuitant (9/9/2009) Delayed Retirement Deductions

Salary Information:

05/17/09: \$113,007/yr (\$54.15/hr) 01/03/10: \$116,397/yr (\$55.77/hr) Annuity Information:

05/17/09: $\$4,200/mo \rightarrow \$50,400/yr \rightarrow \$24.15/hour$ 12/01/09: $\$4,242/mo \rightarrow \$59,904/yr \rightarrow \$24.39/hour$

Α	В	С	D	Ε	F	G (D – E – F)	H (G x 0.8%)	I [7% x (E + F)]	J (G x 6.2%)
Pay Period	Hourly Rate	Hours Worked	Gross Pay Before Annuity Offset	Offset for Annuity	Pre-tax Deductions	Adjusted Gross After Offset and Pre-tax.	Offset Ded (reduced)	Offset Ded (full)	FICA (OASDI) Tax
12/20/09 to 01/02/10	\$54.15	80	\$4,332.00	\$1,951.20 (24.39 x 80)	\$200.00	\$2,180.80	\$17.45	\$150.58	\$135.21
01/03/10 to 01/16/10	\$55.77	80	\$4,461.60	\$1,951.20 (24.39 x 80)	\$250.00	\$2,260.40	\$18.08	\$154.08	\$140.14
01/17/10 to 01/30/10	\$55.77	80	\$4,461.60	\$1,951.20 (24.39 x 80)	\$250.00	\$2,260.40	\$18.08	\$154.08	\$140.14
01/31/10 to 02/13/10	\$55.77	80	\$4,461.60	\$1,951.20 (24.39 x 80)	\$250.00	\$2,260.40	\$18.08	\$154.08	\$140.14
02/14/10 to 02/27/10	\$55.77	80	\$4,461.60	\$1,951.20 (24.39 x 80)	\$250.00	\$2,260.40	\$18.08	\$154.08	\$140.14
02/28/10 to 03/13/10	\$55.77	80	\$4,461.60	\$1,951.20 (24.39 x 80)	\$250.00	\$2,260.40	\$18.08	\$154.08	\$140.14
03/14/10 to 03/27/10	\$55.77	80	\$4,461.60	\$1,951.20 (24.39 x 80)	\$250.00	\$2,260.40	\$18.08	\$154.08	\$140.14
03/28/10 to 04/10/10	\$55.77	80	\$4,461.60	\$1,951.20 (24.39 x 80)	\$250.00	\$2,260.40	\$18.08	\$154.08	\$140.14
04/11/10 to 04/24/10	\$55.77	80	\$4,461.60	\$1,951.20 (24.39 x 80)	\$250.00	\$2,260.40	\$18.08	\$154.08	\$140.14
04/25/10 to 05/08/10	\$55.77	80	\$4,461.60	\$1,951.20 (24.39 x 80)	\$250.00	\$2,260.40	\$18.08	\$154.08	\$140.14
05/09/10 to 05/22/10	\$55.77	80	\$4,461.60	\$1,951.20 (24.39 x 80)	\$250.00	\$2,260.40	\$18.08	\$154.08	\$140.14
05/23/10 to 06/05/10	\$55.77	80	\$4,461.60	\$1,951.20 (24.39 x 80)	\$250.00	\$2,260.40	\$18.08	\$154.08	\$140.14
06/06/10 to 06/19/10	\$55.77	80	\$4,461.60	\$1,951.20 (24.39 x 80)	\$250.00	\$2,260.40	\$18.08	\$154.08	\$140.14
06/20/10 to 07/03/10	\$55.77	80	\$4,461.60	\$1,951.20 (24.39 x 80)	\$250.00	\$2,260.40	\$18.08	\$154.08	\$140.14
07/04/10 to 07/17/10	\$55.77	80	\$4,461.60	\$1,951.20 (24.39 x 80)	\$250.00	\$2,260.40	\$18.08	\$154.08	\$140.14
Total 2010 covered service		1,200 hours	\$66,794.40	\$29,268.00	\$3,700.00	\$33,826.40	\$270.57	\$2,307.70	\$2,097.17

Re-employed CSRS Annuitant (9/9/2009) Delayed Retirement Deductions

Salary Information:

05/17/09: \$113,007/yr (\$54.15/hr) 01/03/10: \$116,397/yr (\$55.77/hr)

Annuity Information:

05/17/09: $\$4,200/mo \rightarrow \$50,400/yr \rightarrow \$24.15/hour$ 12/01/09: $\$4,242/mo \rightarrow \$59,904/yr \rightarrow \$24.39/hour$

Α	В	С	D	Е	F	G (col. D x 7.0%)
Pay Period	Hourly Rate	Hours Worked	Gross Pay Before Annuity Offset	Offset for Annuity	Adjusted Gross After Annuity Offset	CSRS Deductions
05/17/09 to 5/23/09	\$54.15	40 hours (5 days)	\$2,166.00	\$966.00 (24.15 x 40)	\$1,200.00	
05/24/09 to 06/06/09	\$54.15	44 hours (8 days)	\$2,382.60	\$1,062.60 (24.15 x 44)	\$1,320.00	
06/07/09 to 06/20/09	\$54.15	44 hours (8 days)	\$2,382.60	\$1,062.60 (24.15 x 44)	\$1,320.00	
06/21/09 to 07/04/09	\$54.15	36 hours (9 days)	\$1,949.40	\$869.40 (\$24.15 x 36)	\$1,080.00	
07/05/09 to 07/18/09	\$54.15	28 hours (8 days)	\$1,516.20	\$676.20 (24.15 x 28)	\$840.00	
07/19/09 to 08/01/09	\$54.15	33 hours (9 days)	\$1,786.95	\$796.95 (24.15 x 33)	\$990.00	
08/02/09 to 08/15/09	\$54.15	72 hours (10 days)	\$3,898.80	\$1,738.80 (24.15 x 72)	\$2,160.00	
08/16/09 to 08/29/09	\$54.15	68 hours (10 days)	\$3,682.20	\$1,642.20 (24.15 x 68)	\$2,040.00	
08/30/09 to 09/12/09	\$54.15	36 hours (6 days)	\$1,949.40	\$869.40 (\$24.15 x 36)	\$1,080.00	
Subtotal for Intermittent Time		401 hours (73 days)	\$21,714.15	\$9,684.15	\$12,030.00	
09/13/09 to 09/26/09	\$54.15	80 hours	\$4,332.00	\$1,932 (24.15 x 80)	\$2,400	
09/27/09 to 10/10/09	\$54.15	80 hours	\$4,332.00	\$1,932 (24.15 x 80)	\$2,400	
10/11/09 to 10/24/09	\$54.15	80 hours	\$4,332.00	\$1,932 (24.15 x 80)	\$2,400	
Subtotal for non-deduction FT		240 hours	\$12,996.00	\$5,796.00	\$7,200.00	
10/25/09 to 11/07/09	\$54.15	80 hours	\$4,332.00	\$1,932 (24.15 x 80)	\$2,400	\$303.24
11/08/09 to 11/21/09	\$54.15	80 hours	\$4,332.00	\$1,932 (24.15 x 80)	\$2,400	\$303.24
11/22/09 to 12/05/09	\$54.15	48 hours + 32 hours	\$4,332.00	\$1,159.20 (24.15 x 48) + \$780.48 (24.39 x 32) = \$1,939.68	\$2,392.32	\$303.24
12/06/09 to 12/19/09	\$54.15	80	\$4,332.00	\$1,951.20 (24.39 x 80)	\$2,380.80	\$303.24
Subtotal for covered FT service in 2009		320 hours	\$17,328.00	\$7,754.88	\$9,573.12	\$1,212.96

Re-employed CSRS Annuitant (9/9/2009) Delayed Retirement Deductions

Salary Information:

05/17/09: \$113,007/yr (\$54.15/hr) 01/03/10: \$116,397/yr (\$55.77/hr)

Annuity Information:

05/17/09: $\$4,200/mo \rightarrow \$50,400/yr \rightarrow \$24.15/hour$ 12/01/09: $\$4,242/mo \rightarrow \$59,904/yr \rightarrow \$24.39/hour$

Α	В	С	D	Е	F	G (col. D x 7.0%)
Pay Period	Hourly Rate	Hours Worked	Gross Pay Before Annuity Offset	Offset for Annuity	Adjusted Gross After Annuity Offset	CSRS Deductions
12/20/09 to 01/02/10	\$54.15	80	\$4,332.00	\$1,951.20 (24.39 x 80)	\$2,380.80	\$303.24
01/03/10 to 01/16/10	\$55.77	80	\$4,461.60	\$1,951.20 (24.39 x 80)	\$2,510.40	\$312.31
01/17/10 to 01/30/10	\$55.77	80	\$4,461.60	\$1,951.20 (24.39 x 80)	\$2,510.40	\$312.31
01/31/10 to 02/13/10	\$55.77	80	\$4,461.60	\$1,951.20 (24.39 x 80)	\$2,510.40	\$312.31
02/14/10 to 02/27/10	\$55.77	80	\$4,461.60	\$1,951.20 (24.39 x 80)	\$2,510.40	\$312.31
02/28/10 to 03/13/10	\$55.77	80	\$4,461.60	\$1,951.20 (24.39 x 80)	\$2,510.40	\$312.31
03/14/10 to 03/27/10	\$55.77	80	\$4,461.60	\$1,951.20 (24.39 x 80)	\$2,510.40	\$312.31
03/28/10 to 04/10/10	\$55.77	80	\$4,461.60	\$1,951.20 (24.39 x 80)	\$2,510.40	\$312.31
04/11/10 to 04/24/10	\$55.77	80	\$4,461.60	\$1,951.20 (24.39 x 80)	\$2,510.40	\$312.31
04/25/10 to 05/08/10	\$55.77	80	\$4,461.60	\$1,951.20 (24.39 x 80)	\$2,510.40	\$312.31
05/09/10 to 05/22/10	\$55.77	80	\$4,461.60	\$1,951.20 (24.39 x 80)	\$2,510.40	\$312.31
05/23/10 to 06/05/10	\$55.77	80	\$4,461.60	\$1,951.20 (24.39 x 80)	\$2,510.40	\$312.31
06/06/10 to 06/19/10	\$55.77	80	\$4,461.60	\$1,951.20 (24.39 x 80)	\$2,510.40	\$312.31
06/20/10 to 07/03/10	\$55.77	80	\$4,461.60	\$1,951.20 (24.39 x 80)	\$2,510.40	\$312.31
07/04/10 to 07/17/10	\$55.77	80	\$4,461.60	\$1,951.20 (24.39 x 80)	\$2,510.40	\$312.31
Total 2010 covered service		1,200 hours	\$66,794.40	\$29,268.00	\$37,526.40	\$4,675.58

Re-employed CSRS Annuitant (9/9/2009) No Retirement Deductions

Salary Information:

05/17/09: \$113,007/yr (\$54.15/hr) 01/03/10: \$116,397/yr (\$55.77/hr)

Annuity Information:

05/17/09: $\$4,200/mo \rightarrow \$50,400/yr \rightarrow \$24.15/hour$ 12/01/09: $\$4,242/mo \rightarrow \$59,904/yr \rightarrow \$24.39/hour$

Α	В	С	D	Е	F	G (col. D x 7.0%)
Pay Period	Hourly Rate	Hours Worked	Gross Pay Before Annuity Offset	Offset for Annuity	Adjusted Gross After Annuity Offset	CSRS Deductions
05/17/09 to 5/23/09	\$54.15	40 hours (5 days)	\$2,166.00	\$966.00 (24.15 x 40)	\$1,200.00	
05/24/09 to 06/06/09	\$54.15	44 hours (8 days)	\$2,382.60	\$1,062.60 (24.15 x 44)	\$1,320.00	
06/07/09 to 06/20/09	\$54.15	44 hours (8 days)	\$2,382.60	\$1,062.60 (24.15 x 44)	\$1,320.00	
06/21/09 to 07/04/09	\$54.15	36 hours (9 days)	\$1,949.40	\$869.40 (\$24.15 x 36)	\$1,080.00	
07/05/09 to 07/18/09	\$54.15	28 hours (8 days)	\$1,516.20	\$676.20 (24.15 x 28)	\$840.00	
07/19/09 to 08/01/09	\$54.15	33 hours (9 days)	\$1,786.95	\$796.95 (24.15 x 33)	\$990.00	
08/02/09 to 08/15/09	\$54.15	72 hours (10 days)	\$3,898.80	\$1,738.80 (24.15 x 72)	\$2,160.00	
08/16/09 to 08/29/09	\$54.15	68 hours (10 days)	\$3,682.20	\$1,642.20 (24.15 x 68)	\$2,040.00	
08/30/09 to 09/12/09	\$54.15	36 hours (6 days)	\$1,949.40	\$869.40 (\$24.15 x 36)	\$1,080.00	
Subtotal for Intermittent Time		401 hours (73 days)	\$21,714.15	\$9,684.15	\$12,030.00	
09/13/09 to 09/26/09	\$54.15	80 hours	\$4,332.00	\$1,932 (24.15 x 80)	\$2,400	
09/27/09 to 10/10/09	\$54.15	80 hours	\$4,332.00	\$1,932 (24.15 x 80)	\$2,400	
10/11/09 to 10/24/09	\$54.15	80 hours	\$4,332.00	\$1,932 (24.15 x 80)	\$2,400	
10/25/09 to 11/07/09	\$54.15	80 hours	\$4,332.00	\$1,932 (24.15 x 80)	\$2,400	
11/08/09 to 11/21/09	\$54.15	80 hours	\$4,332.00	\$1,932 (24.15 x 80)	\$2,400	
11/22/09 to 12/05/09	\$54.15	48 hours + 32 hours	\$4,332.00	\$1,159.20 (24.15 x 48) + \$780.48 (24.39 x 32) = \$1,939.68	\$2,392.32	
12/06/09 to 12/19/09	\$54.15	80	\$4,332.00	\$1,951.20 (24.39 x 80)	\$2,380.80	
Subtotal for non-deduction FT service in 2009		560 hours	\$30,324.00	\$13,550.88	\$16,773.12	

Re-employed CSRS Annuitant (9/9/2009) No Retirement Deductions

Salary Information:

05/17/09: \$113,007/yr (\$54.15/hr) 01/03/10: \$116,397/yr (\$55.77/hr)

Annuity Information:

05/17/09: $\$4,200/mo \rightarrow \$50,400/yr \rightarrow \$24.15/hour$ 12/01/09: $\$4,242/mo \rightarrow \$59,904/yr \rightarrow \$24.39/hour$

Α	В	С	D	E	F	G (col. D x 7.0%)
Pay Period	Hourly Rate	Hours Worked	Gross Pay Before Annuity Offset	Offset for Annuity	Adjusted Gross After Annuity Offset	CSRS Deductions
12/20/09 to 01/02/10	\$54.15	80	\$4,332.00	\$1,951.20 (24.39 x 80)	\$2,380.80	
01/03/10 to 01/16/10	\$55.77	80	\$4,461.60	\$1,951.20 (24.39 x 80)	\$2,510.40	
01/17/10 to 01/30/10	\$55.77	80	\$4,461.60	\$1,951.20 (24.39 x 80)	\$2,510.40	
01/31/10 to 02/13/10	\$55.77	80	\$4,461.60	\$1,951.20 (24.39 x 80)	\$2,510.40	
02/14/10 to 02/27/10	\$55.77	80	\$4,461.60	\$1,951.20 (24.39 x 80)	\$2,510.40	
02/28/10 to 03/13/10	\$55.77	80	\$4,461.60	\$1,951.20 (24.39 x 80)	\$2,510.40	
03/14/10 to 03/27/10	\$55.77	80	\$4,461.60	\$1,951.20 (24.39 x 80)	\$2,510.40	
03/28/10 to 04/10/10	\$55.77	80	\$4,461.60	\$1,951.20 (24.39 x 80)	\$2,510.40	
04/11/10 to 04/24/10	\$55.77	80	\$4,461.60	\$1,951.20 (24.39 x 80)	\$2,510.40	
04/25/10 to 05/08/10	\$55.77	80	\$4,461.60	\$1,951.20 (24.39 x 80)	\$2,510.40	
05/09/10 to 05/22/10	\$55.77	80	\$4,461.60	\$1,951.20 (24.39 x 80)	\$2,510.40	
05/23/10 to 06/05/10	\$55.77	80	\$4,461.60	\$1,951.20 (24.39 x 80)	\$2,510.40	
06/06/10 to 06/19/10	\$55.77	80	\$4,461.60	\$1,951.20 (24.39 x 80)	\$2,510.40	
06/20/10 to 07/03/10	\$55.77	80	\$4,461.60	\$1,951.20 (24.39 x 80)	\$2,510.40	
07/04/10 to 07/17/10	\$55.77	80	\$4,461.60	\$1,951.20 (24.39 x 80)	\$2,510.40	
Total 2010 non-deduction service		1,200 hours	\$66,794.40	\$29,268.00	\$37,526.40	